Math S770/6640 ,  MEEW 4o25

Hw L Solutmus

LL xeh” pul-(ilxl)

Thit fumchin s Po;ﬂw and  homs, s5tneous bub deesn¥ ;m‘ufj the
ﬁr.andk lv\(aLwl’rJ

syl & ldly + Tyl
Bg vd X (1) 47 (V)

I eyll, = (617" = 4
Yl } g ll, =y £ 2= [yl + lylly

-I:':: X.g,Zélk“ (1] ic & norm

lx- =] = II(x ,4)”_{1 2)l] ¢ ”’X—C'f”f I]g_zj

Jm'avwlc l'nlism[lb

L#; rRM’ nprm “'[[b , mmky\
Lé [ = !
R aoem Ui, - / Ié"“% lrrjlfs; ’41‘”5
- aq

Borh I Ny and “'“b Jm‘i(@ the l’r"ﬂlnﬂk Ineiua//b.

3

A Ber™ = [1Ee8)xl=l4xr Byl € Idel,s Ipy)



The refore 4+l = max (4480l £ mar @lé,l/w ”55/&)
=y < llxlfqél

¢ max Nyl ¢ max N8I,
(P llx)), £/

=il 1 18 g,

A_eﬂ{mm

”éuqlb: max ”4,7}5”1:

Wxlly 2 1.
(1) Swe S$xeR™: {lgll,,:l'}(c fyemn quas[}/

o max ) 2 max gl ()

1 e fi 7 1

(2) Supfmsg, Xy (8 a[n;) maximizer  of l{i.xub oVer /{?:Haé{'
Then l[zc,ll,ﬁ 1.
()ﬂzﬁ ‘ Sqwgu ”’_){g],, <I gnd Xy maximizs lli_'}g//b ¥ ”X ”qé I

= % ; lly i,=1 nd
Ten g = %lxl!, whshee lyla=1 4

”4%”[): mﬁ Héﬁjlb - “il‘x“b ) Conf-f‘acll'dm?,

the asqumphon Hhat X naximizeg [(f ;.
Tl““, “l(g”azl



[3) L(" X¥ b{ aflg MY[M{’Z@/‘ 0# ’(4)’(”}’ Over {[gﬂaél

We kngw o ”Xx”g:’.

Thon

ma ¥ l(AryHb: “ié@”b € may ”igl/b

- =

[l 1], ] / Ul =1

X, i Jug one Veehtr

S‘lﬁ&{yl‘vw ”K l/ﬁ:,.

Cawar\fvb (%) ard | %) Shws Mat

max Ml = wax g
It bt X

—
-

ACR™ el 0 verm 0 R®

I, a2 0orm on "

|

max M, ma ¥ ”A(ﬁ,\” £ max ’/4’_\51”5

o " 3 Sl g

X
‘u;{” aIWﬂyJ lwg porm 1.

and*
may 143l > max Mxly _ max  ldxl,
0y, hxly=t Uxlla gl =1

e VA ERIEN kY

(#4)



”d'K”b
Thu, ';?(Q E": = mayx “:’A-'K”b: uﬁ"a,b

“'X”q:’ /i

Probltw‘ LE

113 /1,@[1"'”‘

—_—

() Wkl = Ay, (474 )

IATH= by (4 47)

IF (141> 0, thn 4=g (S 111 auom)/ So Ar:_q and (1410
So U l1= 4711 < p=0

Qe

I IR0, thon dmarl 474) 202

Clawi 7 A is a nowzery f’;en'/"/“( of -."}Té, s
also  an en‘jem/u/uz of AAT.

Pranf: 3 V#) S.t. 47‘

"

(>N

A
)

\Y

<

o
v)
Note: fu#p sine #F % H Hon k=07

T

(4

s
—
.y
—
0}
—

\\!

v

(4-4.*) = ,‘g = A ;S on G muq/ll&
’ # 44%

Theetore  AAT and A4 ot e Same ot of mmsgpy
eigerva}m, imp[améz Hhar of WE11#, vhen

A1 A 441 b £49=1471



Y

I

he R Symmchric,  Pve hax (4 ) nax ythy

-

Org ophie * Use. resultc from Rafj{e‘dl" Zu,ohwzf,

S@CM('l divect ﬁmkw

'IS:

/____L _L/! T 01'“1% vyw, nxn

U
./,__} 90\,«0:, WM\ rdny
A)) /\ Ay\

Lt ¥ Soiisby Ili=1. Then 4= UTx  cahiche

Max XT4x = max TAy= m
Ih=1 lly =1 94" ”yl[:] }”5

= May A /\my/"’)

l7{ n



|

l,l75 Deting A'u= (—ﬁ‘-{;\ ’w’mk i open Y n>p

Then 5‘,4,[: go},wmm is a Clised st

>~

ABCR®

|

Sine  AC clh) and BCcAB), Hhen

ANB € chA) D cliB)

Dolersttons of chscd Sty ae closid, 20 ClR)(VclB) is a clowd
Ser Ontaitig AN\ B

ch(AB) s by dbwito e smalar chscd &+ iy, ANB and thus
(S af feusr o5 small as l/EVIMRD, i,
CLLANRYE cliM N chiB)
Exangle in R A= (g, 1), B=(12)
AANR) = cl(p)= @
AR Net®)= 1,30 11,21 §11°> 8.



